ZyXEL

Quick Start Guide

NXC2500

Wireless LAN Controller

Hardware Installation

Connect to a PC for initial configuration.

Connect to a modem/router for Internet access.

Connect to a PoE switch to supply power over Ethernet to a managed
AP.

SchlieBen Sie das Gerét fiir die Erstkonfiguration an einen PC an.
SchlieBen Sie das Gerat fiir den Internetzugriff an ein Modem/einen
Router an.

SchlieBen Sie das Gerat an einen PoE-Schalter an, um einen
Managed-AP tiber die Netzwerkverbindung mit Strom zu versorgen.
Conectar al PC para la configuracion inicial.

Conectar al médem/router para el acceso a Internet.

Conectar al conmutador PoE para suministrar energia por Ethernet a
un PA administrado.

Connecter a un PC pour la configuration initiale.

Connecter a un modem/routeur pour accéder a Internet. Connecter a
un commutateur PoE pour alimenter par cable Ethernet a un point
d'accés géré.

Connettere a un PC per la configurazione iniziale.

Connettere ad un modem/router per I'accesso a Internet. Connettere
ad uno switch PoE per alimentare tramite Ethernet un PA gestito.
MoAKMOUNTECE K KOMMBIOTEPY ANSt NPOBEAEHNS NEPBUYHOIA
HaCTpOIKU.

MoaknounTeCh K MOIeMy/MapLpyTU3aTopy ANs A0CTyna B VIHTepHeT.
MoakntounTe koMMyTaTop POE AN Nojaun NuTaHus K ynpasBnseMmoii
TA no kabento Ethernet.

Anslut till en dator for grundinstallning.

Anslut till ett modem/en router foér Internet-&tkomst.

NXC2500
w i Gt
I\I\I\II\\IH\IIHHIIHIIHIHHHIHIIIIHHH

Installation der Hardware | YctaHoBka o6opygoBaHus

Instalacion del hardware | Maskinvaruinstallation
Installation du matériel | fifl £ 22 %%
Installazione hardware | EiE %5

=

PR T
SYSCI  peser
[¢)

i

il

Anslut till en PoE-brytare fér att f& stém via Ethernet till en hanterad
AP.

MR PCLUATTHIARCE -

ERER R E /R ELOS R RSN -

HE#E PoE XHA - BEUAMEZE AP e -

EEBRETIER

BRI/ EES - BRI -

% PoE XM - BRI KNBEHBALZEENAP -

To configure the NXC2500 using commands,
connect to a PC with terminal emulation
software configured to the following parameters:
* VT100 terminal emulation

* 115200 bps

« No parity, 8 data bits, 1 stop bit
« No flow control

Um den NXC2500 mit Befehlen zu konfigurieren, schlieBen Sie ihn an

einen PC an, bei dem die Terminalemulationssoftware auf die
folgenden Parameter eingestellt ist:
* VT100 Terminal-Emulation
* 115200 Bit/s
« Keine Paritat (Parity), 8 Datenbits, 1 Stopp-Bit
« Kein "Flow Control" (Datenflusskontrolle)
Para configurar el NXC2500 usando los comandos, conectar a un PC
con software de emulacidn de terminales configurado con estos
parametros:
* Emulador de terminal VT100
* 115200 bps
« Sin paridad, 8 bits de datos, 1 bit de parada
« Sin control de flujo
Pour configurer le NXC2500 a I'aide des commandes, connecter a un
PC avec le logiciel d'émulation de terminal configuré sur les
paramétres suivants :
* Emulation de Terminal VT100
* 115200 bps
« Sans parité, 8 bits de données, 1 bit d'arrét
 Aucun contrdle de flux
Per configurare I'unitd NXC2500 usando comandi, connettere ad un
PC con un software emulatore di terminale configurato con i seguenti
parametri:
« Emulazione di terminale VT100
« 115200 bps
« Nessuna parita, 8 bit dati, 1 bit di stop
* Nessun controllo di flusso
Ans HacTpoiku NXC2500 nocpeacTBOM KOMaHA NOAKIIYUTECH K
KOMMbIOTEPY C NPOrpaMMoii 3MyNALMM TePMUHAnNa, B KOTOPOW
HacTpoiiTe cneayiollne napamMeTpsi:
* dMynauusa TepmuHana VT100
* CkopocTb nepeaayn 115200 6oa
o 6e3 KOHTPONS YETHOCTH, 8 BUT AaHHbIX, 1 cTON-6MT
« 6e3 ynpaBneHuns noToKOM
For att konfigurera NXC2500 med kommandon, anslut till en dator
med terminalemuleringsprogramvara som konfigurerats enligt
féljande parametrar:
« VT100 terminalemulator
« 115200 bps
« Ingen paritet, 8 data bits, 1 stop bit
« Ingen flodeskontroll
ZEMAMLEE NXC2500 - EEALKENREERES PC - RS MRS
BOF .
+VT100 fﬁzﬂmﬁ%
+115200
. %§1%$2h C8AMNEIREAL - 1 AME AL
« T &
EHEHEAESHBRE NXC2500 @ FEERAZRNERBHEN - 28
B QEL/('F/@ :
. VT100 FE U515 B
+ 115200 bps
Ffgs - SHENSSEE

B IE

fisc - 118 L fiIT

Connect to an appropriate power source. \
SchlieBen Sie das Geréat an eine geeignete Stromquelle an.

Conecte a una fuente de corriente apropiada.

Connectez a une source d'alimentation appropriée.

Collegarsi a una fonte di alimentazione appropriata.

MoakntoumMTe YCTPOICTBO K COOTBETCTBYIOLEMY MCTOUHMKY MUATaHMS.
Anslut till en lamplig stromkalla.

B3 T LI PR

ERFREENER - ‘

1/2

Copyright © 2013 ZyXEL Communications Corp. All Rights Reserved



.y - . . Erstkonfiguration | MNMepBoHavYanbHasa HacTpouka
Inltlal COI"IfIgUI‘atIOI’] Configuracién inicial | Initial konfiguration

Configuration initiale | #J%4 i &

Open your web browser. Configurazione iniziale | #FJ8ARE
Starten Sie Ihren Webbrowser.

Abra su explorador de web.

Ouvrez votre navigateur web. 3 m——
Aprire il browser. » @TT/ - |g, Ritp:/{192.168.1.1 b |+
OTkpoiTe Baw Be6-6paysep. i

Oppna din webblasare. £ i S T

FTIT web 1 Vi %% «

RSN ARHESS -

Log in and go to:

« Configuration > Network > Interface > VLAN to change the NXC2500’s default IP address. . .

« Configuration > Object > AP Profile to configure wireless security for your wireless APs. Defa u It Log in Deta 1 IS
Melden Sie sich an, und gehen Sie zu:

« Configuration (Konfiguration) > Network (Netzwerk) > Interface (Schnittstelle) > VLAN, -

o K ) xtama & \etzwer Standard-Anmeldedaten | JaHHble Ans BXxoga no yMmonyaHuio
« Configuration (Konfiguration) > Object (Objekt) > AP Profile (AP-Profil), um die Detall inici idn pr termin tandar ifter forinl nin
Wireless-Sicherheit des Wireless-AP zu konfigurieren. etalles deinicio de sesi6 P _ede e ado§| Sta da dupp% . ‘e O . ?[gg N ,g
Iniciar sesion e ir a: Informations de connexion par défaut | %k 8 S FEAN A B
« Configuration > Network > Interface > VLAN (Configuracion > Red > Interfaz > VLAN) . . N ans .
para cambiar la direccién IP predeterminada del NXC2500. Dettagll sull'accesso predeflnlto | AR AFAER

« Configuration > Object > AP Profile (Configuracidn > Objeto > Perfil PA) para configurar la
seguridad inaldambrica de sus PAs inalambricos.
Connectez-vous et allez a :

« Configuration > Réseau > Interface > VLAN pour modifier |'adresse IP par défaut du
NXC2500. ZyXEL
« Configuration > Objet > Profil AP pour configurer la sécurité sans fil pour vos points NXC2500 Enter User Name/ Password and click to login.

d'acces sans fil.
Effettuare I'accesso e andare a:

-Colnfig_urazione > Rete > Interfaccia > VLAN per modificare I'indirizzo IP predefinito et

?(e:gnrf?;u';‘axz%rfgg Oggetto > Profilo PA per configurare la sicurezza wireless per i PA (P::;mmm I P Ad d ress. 1 9 2 . 1 68 . 1 . 1
X;;zszsslyﬁrecx,mnepeﬁnmte K: ) » . User Name: admln

Tntertace 3 VLAN (Kondwrypau s Ceto o Arepbee s VLAY o o ere Password: 1234

 [1Ns1 HACTPOWKM 3aWWNUTbl PaAMOCBS3M BawnxX GecnpoBoaHbix T/l Bbi6epuTe Configuration >
Object > AP Profile (Kondurypauus > O6bekT > Mpodunsb AP).

Logga in och g4 till: -
« Konfiguration > Natverk > Granssnitt > VLAN for att andra standard-IP-adressen for

NXC2500. —

« Konfiguration > Objekt > AP-profil fér att konfigurera trddlos sékerhet for dina tr&dlésa L Wote:

AP:er. 1. Tum on Javascript and Cookie setting n your web browser.
BERHEER 2. Tum off Popup Window Blocking in your web browser.

« Configuration > Network > Interface > VLAN ( B2 & > M4 > #0 > VLAN ) - X & ey S e Bl 0T U)o s Rl iEes,
NXC2500 F9BKINIP sttt -

« Configuration > Object > AP Profile (iCE > W% > APEREX ) - REXL AP WELR
e For more information, please refer to the User's Guide at www.zyxel.com.

AR
EAEQE (Configuration) > & (Network) > 77 & (Interface) > VLAN - f&2 NXC2500 #7878
1P firdt -

« #7E (Configuration) > #1F (Object) > AP R E#H & (AP Profile) - RERM AP WEEZ 24

Rackmontage | MoHTax B cTolnke

RaCk Mou nt|ng Montaje en bastidor | Hylimontering
Montage en rack | #Hl %2 % %
Montaggio su rack | #2224

Rack-mounting screws that come with the rack.
N Mitgelieferte Schrauben fiir die Rackmontage.
Tornillos de montaje en bastidor incluidos en el bastidor.
Vis pour montage en rack fournies avec le rack.

Viti di montaggio su rack che vengono fornite con il rack.
BWHTbI 1Nl CTOEYHOTO MOHTaXa M3 KOMMJIeKTa KperneHuii CTONKU.

M4 flat head screws (included).
M4 Senkkopfschrauben (im Lieferumfang enthalten).
Tornillos de cabeza plana M4 (incluidos).

Vis a téte plate M4 (incluses). ¥
Viti M4 a testa piatta (incluse). \Q
BUHTLI M4 C NJ10CKOI ronoBKoii (B KOMNAeKTe).

X Rack-monteringsskruvar som levereras med rackenheten. e
M4 skruvar med platt huvud (ing8r). HZSH SR H 20 R BB 44 - W
M4 F3L8R22 ([T ) FREPR HR B 2R A T2 L R 4k - K
M4 FEER# (BE) IN

Wichtige Information | BaxHasa nHdopmauus

ImpO I’ta nt InfOI‘matIOI"I Informacién importante | Viktig information

Information importante | EZER

rGo to www.zyxel.com to view this product's documentation and certifications. \ Informazioni importanti | E£&5

Gehen Sie auf www.zyxel.com, um die Dokumentationen und Zertifizierungen dieses Produktes anzusehen.
Visite www.zyxel.com para ver la documentacion y certificaciones de este producto.

Pour une documentation compléte et plus de renseignements sur les certifications, rendez-vous sur le site
www.zyxel.com.

Visita www.zyxel.com per visualizzare la documentazione e le certificazioni del prodotto.

[ins npocmoTpa AOKYMEHTauumn u cepTudrKkaToB No aHHOMY NPOAYKTY NepenaunTe Ha cTpaHuuy www.zyxel.com.
Besdk www.zyxel.com for att ta del av denna produkts dokumentation och certifieringar.
Brtiwww.zyxel.comBH =R XEAINEER -

FBATEWwWw.zyxel.com 2B It & m AR S KRG -

ENGLISH | DEUTSCH | ESPANOL | FRANGAIS | ITALIANO | PYCCKWUW | SVENSKA | At | BEEthz
2/2 Copyright © 2013 ZyXEL Communications Corp. All Rights Reserved



